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APPLICATION OF BIOT SAVART LAW
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APPLICATION OF BIOT SAVART LAW

Magnetic field due to a current carrying circular wire loop at an axial point.
JdTehR YRTATe! 91T & 38T fdg 9 Ioaen T &1

Consider a circular current carrying loop of radius R having current i, we have
to find magnetic field at it's axial point P which is at Z distance from center of
the ring by using BIOT- SAVART law. To Find magnetic field consider a small
element of current carrying wire that |s@/hnd posmon vector of point P with
respect to(d/)/vhlch is(7)Angle between dland Fvector is 90°.

By applying BIOT-SAVART law.
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